
9

475

TECHNICAL DATA

Wash basin and urinal fi xing WD

Contents per plastic bag Sales unit

  
Item Art.-No. [pcs] [pcs]

WD 8 x 90 080659  2 wall plugs UX 10 x 60, 2 stud screws M8 x 90 zinc-plated, 2 flanged nuts BU M8 50
WD 8 x 110 080658  2 wall plugs UX 10 x 60, 2 stud screws M8 x 110 zinc-plated, 2 flanged nuts BU M8 50
WD 10 x 120 080655  2 wall plugs UX 14 x 75, 2 stud screws M10 x 120 zinc-plated, 2 flanged nuts BU M10 MH 50
WD 10 x 140 080656  2 wall plugs UX 14 x 75, 2 stud screws M10 x 140 zinc-plated, 2 flanged nuts BU M10 MH 50

TECHNICAL DATA

Boiler fi xing BO

Contents per plastic bag Sales unit

  
Item Art.-No. [pcs] [pcs]

BO 120 080654  4 wall plugs UX 14 x 75, 4 stud screws M10 x 120 zinc-plated, 4 flanged nuts BU M10 25

TECHNICAL DATA

Washbasin fi xing WST

Contents per plastic bag Sales unit

  
Item Art.-No. [pcs] [pcs]

WST 10 x 140 080660  
2 wall plugs UX 14 x 75, 2 stud screws M10 x 140 zinc-plated, 
2 hexagon nuts M10 zinc-plated, 2 flanged bushes BDH M10

50

WST 12 x 150 080661  
2 wall plugs UX 14 x 75, 2 stud screws M12 x 150 zinc-plated, 
2 hexagon nuts M12 zinc-plated, 2 flanged bushes BDH M12

50

WST 12 x 180 080662  
2 wall plugs UX 14 x 75, 2 stud screws M12 x 180 zinc-plated, 
2 hexagon nuts M12 zinc-plated, 2 flanged bushes BDH M12

50

TECHNICAL DATA

Urinal fi xing UST 8 x 110 Urinal fi xing UST 10 x 120

Contents per plastic bag Sales unit

  
Item Art.-No. [pcs] [pcs]

UST 8 x 110 083578  
2 wall plugs UX 10 x 60, 2 stud screws M8 x 110, 2 washers B 8.4 DIN 125, 
2 plastic washer 8,4 x 16 x 1,6, 2 cap nuts FA 8, 2 cover caps chrome plated

50

UST 10 x 120 080668  
2 wall plugs UX 14 x 75, 2 stud screws M10 x 120, 2 flanged nuts BU M10, 
2 cover caps AKM 10 CR

10

S
an

it
ar

y
 fi

 x
in

g
s

Wash basin and urinal fi xings




